A 167] 24ts1

HEWFHEN = ERN RS F:3
(202411231 DY) (EHRI:R) (202411231 BRY) (EH2I:3)
HE U= Ml 16 I HE U= Ml 16 21

A4t Atat
7S At 12,564,754,898 7= S AHat 11,437,341,514
S=Xe sS4t 12,065,867,953 EEE =R, 10,948,932,729
HEMHZA 187,201 =M 187,201
JIEH 2 179,404,480 JIEH 2 179,404,480
JIEt= S LAt 136,526,834 JEtR S A&t 126,048,674
IHH & S KHat 123,090,000 It af S it 123,090,000
SO H QA XF & 59,678,430 O H QLI XA 59,678,430
Hl = S KHat 31,150,220,096 HI= S Xt 32,246,006,600
SHINLETF4 1,235,740,750
JIEH 2 28,113,005 JIEH 2 3,613,000
FE Xt 30,671,714,855 = At 30,556,260,614
S At 450,392,236 St 450,392,236
AHatS A 43,714,974,994 &S A 43,683,348,114

S S
=S 16,301,146,028 RS2 16,268,727,339
JIEtH 2 194,067,824 JIEHH 2 161,649,135
A= TH 1,021,818,183 H =2 1,021,818,183
et RS2 370,686,708 JIEt RS2 370,686,708
sSd ALK 7,280,473,313 mSdd A 7,280,473,313
SSLHAYSEM 7,434,100,000 RSLHUYSEMN 7,434,100,000
HRS2M 2,470,575,859 HRSEM 2,470,575,859
JIEtH 2 12,389,177 JIEHH 2 12,389,177
=2 S 2N 2,239,593,576 =2HHSHEM 2,239,593,576
HesSsSE2 52,592,002 BHRSSE2EX 52,592,002
JIEt HIRS 2 166,001,104 JIEtHISS 2 166,001,104
SIS 18,771,721,887 SUHSA 18,739,303,198

A= A=
== 7,629,237,500 == 7,629,237,500
A=do=s 92,582,884,367 N 92,582,884,367
JIEt=xE 778,736,013 JEtE2Ee4 778,736,013

JIEtE Z &l = 245,390,887

o= (2ES) -76,292,995,660 olldoz3(2E3) -76,046,812,964
A=A 24,943,253,107 A=A 24,944,044,916
A= 2 S 43,714,974,994 A= H2HEA 43,683,348,114
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